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Social Studies 30-1: The Evolution of Liberalism
3.1.12 Responses to Liberalism Assignment 

54 marks
In this two-part assignment, review the main ideas from this section and then analyze one of two sources by answering some questions.
Part One  














34 marks

1. Complete the chart below. In point form in the first column, identify the main ideas behind the ideologies or movements that developed in response to classical liberalism. In the next column, answer the questions regarding the principles of classical liberalism (private property, rule of law, individual rights and freedoms, competition, economic freedom, self-interest) that were challenged by these new ideologies.    (24 marks)
	
	Identify the Main Ideas
	What principle of classical liberalism was the British government protecting when they acted against the Luddites? Explain

	Luddites
	During the 19th century, the Luddites (a group of weavers) protested against the introduction/use of weaving machines. The idea of not using traditional skill was offensive to the Luddites and they felt as if their practice of weaving was being forgotten and replaced.
	The British government was protecting the Economic Freedom Principle. The Luddites were a group of textile workers who were protesting against reductions in pay. They wanted also to halt the progress of technology with regard to factory machines. This is why factories were attacked. The government argued that people or factories or employers had the right to use their resources as they pleased.


	
	Identify the Main Ideas
	What principles of classical liberalism were the chartists trying to have recognized? Explain.

	Chartism
	The Chartism movement was started “to seek by every legal means to place all classes of society in possession of their equal, political and social rights” as this was during a time when only a small sector of the population could vote. The Chartists wanted to change six specifics of the standing parliament system; including voting on a secret ballot, annual elections and equal representation. 
	The Chartists were trying to have a person's individual rights and freedoms especially the right to vote recognized. The belief was that people were born free and equal and had to have their democratic right to vote. They believed omitting a large part of the population from the voting process was outright unfair and untenable. Their petitions were however rejected by the Parliament effectively ending their movement and cause at that time


	
	Identify the Main Ideas
	How successful was Utopian Socialism in removing the excesses of classical liberalism? Explain.

	Utopian Socialism
	In 1848, Marx and Engel created Utopian Socialism. It was said to be a representation of visions and outlines of futuristic societies solely of positive ideas. Utopian Socialists wanted to create a rational society based on principles displayed in the French Revolution (1789-1799).
	Utopian Socialism says, allowing people their own freedom could make them realize their full potential and therefore contribute to making the society more human. Part of this included was education, which it held that made the citizens more sensible and willing to share with one another. Healthcare was another focus as everyone has a right to proper healthcare. Utopian Socialism, therefore, encouraged contentment rather than competition. Classical Liberalism on the other hand encourages competition and the right to claim what one believes is rightfully theirs. It also holds the view that all people are equal despite the competition. Examining the modern world set up and beliefs, it is clear that Utopian Socialism was unsuccessful in ending those excesses. 

	
	Identify the Main Ideas
	Would Marxists support any principles of classical liberalism? If so, which ones? Explain.

	Marxism
	Also developed by Marx and Engel, Marxism is their economic and political philosophies. The literary source “The Communist Manifesto”, written by Marx, outlines the main ideas of Marxism. A large idea of Marxism were alienation, class struggle, labour value/theory of wealth and communism. Eventually this was developed into the base of modern day communism. 
	< >

	
	Identify the Main Ideas
	Which principles of classical liberalism was Edmund Burke most opposed to? Explain.

	Classical Conservatism
	(1800’s) Classical Conservatism is the idea that natural law along with traditions, hierarchy and classicism are all needed principles. 
	< >



	
	Identify the Main Ideas
	How did welfare capitalism alter classical liberalism? Explain.

	Welfare Capitalism
	Welfare is the “statutory procedure or social effort designed to promote the basic physical and material well-being of people in need”. Often times, this is or can be provided by businesses to their employees (unemployment insurance and healthcare). Welfare Capitalism is the combination of welfare and free market principles. On another hand, Welfare Capitalism is the opposite of Laissez-faire Capitalism.
	< >




2. Did these alternate ideologies provide the means to a better life for those living in the 19th century?  Support your position by referring to the information you obtained from the chart you just completed. Respond in a paragraph(s). (10 marks)
< >

Part One, Question #2 Rubric










10 marks
	Scoring Criteria
Paragraph
	Ideas and Support
7.5
	Communication of Ideas
2.5

	Excellent
	· Provides thoughtful ideas and thorough explanations 

· Support is specific, relevant, and accurate.
· Student demonstrates a confident and perceptive understanding of  the assigned task.
7.5
	· Writing is fluent and organized effectively. 

· Vocabulary is precise, accurate and effective. 

· Confident control of sentence construction, grammar, and mechanics

2.5

	Proficient
	· Provides meaningful ideas and appropriate explanations 

· Support is relevant and appropriate but may contain minor errors.. 

· Student demonstrates a proficient and clear understanding of the assigned task.
6
	· Writing is organized proficiently.
· Vocabulary is specific, accurate, and appropriate. 

· Proficient control of sentence construction, grammar, and mechanics

2

	Satisfactory
	· Provides straightforward ideas and general explanations 

· Support is relevant but general and /or incompletely developed.

· Student demonstrates an acceptable understanding of the assigned task.
4.5
	· Writing is generally clear and organized functionally.
· Vocabulary is appropriate and generally accurate, but not specific.

· Satisfactory control of sentence construction, grammar, and mechanics.; minor errors do not interfere seriously with communication
1.5

	Limited
	· Provides ideas and/or explanations that are limited and overgeneralized

· Support is superficial and may not always be relevant.
· Student demonstrates a limited understanding of the assigned task.
3
	· Writing is uneven and /or incomplete.
· Vocabulary is general and/or imprecise and/or inappropriate.
· Faltering control of sentence construction, grammar, and mechanics
1

	 

Poor
	· Provides ideas and/or explanations that are minimal and/or tangential 

· Support, if present, is superficial, incomplete, and/or marginally relevant.

· Student demonstrates a minimal understanding of the assigned task. 

1.5
	· Writing is unclear and disorganized.
· Vocabulary is ineffective and frequently incorrect.

· Lack of control of sentence construction, grammar, and mechanics
0.5


Part Two                                                                                                                                                              20 marks
Examine the following sources.  Select ONE and complete the assignment. 
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1929 Political Poster
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1931 Political Poster

The text reads as follows:

The Man at the Top-‘Equality of Sacrifice-that’s the big idea, friends!  Let’s all step down one rung!’ 
Each man has a number on his jacket showing his income, with the richest man on top. The man at the bottom is unemployed.


1. Complete the planning chart below. (5 marks) 
	Cartoon chosen: 

	Question
	Answer
	How do I know?

	What

…do you see in the image?
	The difference between the income of social classes (men)
	Each man has their income printed on their jacket. The man who makes the most is at the top of the ladder and so on and so fourth. The man at the bottom (unemployed) is drowning which represents his struggle.

	Who

…is the image about?
	The working class (man at the bottom of the ladder) and their struggle to compensate when the higher classes shift above them.
	The image is mainly directed at the struggles that the unemployed/lower classes deal with. The emphasis is on those at the bottom of the ladder as the man at the top says, “Let’s all step down one rung”, drowning more men. 

	When

…did it occur?
	1931
	Listed at the bottom of the image/poster

	Where

…did it occur?
	United States of America
	“

	Why

…was this image created?
	It was created as leverage to make residents vote for Labour
	Due to its emphasis on social justice and encouraging people to take liberty of their livelihood by doing things to end their struggles.


2. What is the main idea reflected in the source?  (2 marks)

The main idea is the evident inequality of the working classes. Just like the ladder, when the richest classes make a change, the affect becomes more and more evident as it affects each person further down on the ladder. This is why it shows the unemployed man drowning.

3. Is the ideological perspective shown collectivist or individualist?  (1 mark)

This poster is aimed at the lower classes that struggle with money due to actions of the upper classes. I believe that the intentions of the poster were to encourage the lower classes to push for changes (workers/employees). The ideological perspective is collectivist. 
4. How is the source connected to liberalism?  (2 marks)

It is connected to liberalism because of its emphasis on social justice and encouraging people to take liberty of their livelihood by doing things to end their struggles.
5. Does the source primarily support or reject the principles of classical liberalism?  Which principles?  Explain, providing supporting information.  (10 marks)
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Part Two, Question #5 Rubric











           10 marks
	Scoring Criteria
Paragraph
	Ideas and Support
7.5
	Communication of Ideas
2.5

	Excellent
	· Provides thoughtful ideas and thorough explanations 

· Support is specific, relevant, and accurate.
· Student demonstrates a confident and perceptive understanding of  the assigned task.
7.5
	· Writing is fluent and organized effectively. 

· Vocabulary is precise, accurate and effective. 

· Confident control of sentence construction, grammar, and mechanics

2.5

	Proficient
	· Provides meaningful ideas and appropriate explanations 

· Support is relevant and appropriate but may contain minor errors.. 

· Student demonstrates a proficient and clear understanding of the assigned task.
6
	· Writing is organized proficiently.
· Vocabulary is specific, accurate, and appropriate. 

· Proficient control of sentence construction, grammar, and mechanics

2

	Satisfactory
	· Provides straightforward ideas and general explanations 

· Support is relevant but general and /or incompletely developed.

· Student demonstrates an acceptable understanding of the assigned task.
4.5
	· Writing is generally clear and organized functionally.
· Vocabulary is appropriate and generally accurate, but not specific.

· Satisfactory control of sentence construction, grammar, and mechanics.; minor errors do not interfere seriously with communication
1.5

	Limited
	· Provides ideas and/or explanations that are limited and overgeneralized

· Support is superficial and may not always be relevant.
· Student demonstrates a limited understanding of the assigned task.
3
	· Writing is uneven and /or incomplete.
· Vocabulary is general and/or imprecise and/or inappropriate.
· Faltering control of sentence construction, grammar, and mechanics
1

	 

Poor
	· Provides ideas and/or explanations that are minimal and/or tangential 

· Support, if present, is superficial, incomplete, and/or marginally relevant.

· Student demonstrates a minimal understanding of the assigned task. 

1.5
	· Writing is unclear and disorganized.
· Vocabulary is ineffective and frequently incorrect.

· Lack of control of sentence construction, grammar, and mechanics
0.5
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